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No No K4 B 4 1L L I 5| Héﬁ il A1k
1 102 N 1&AH DAES]Ir 1:05.43 1:03.63 2:09.06 0.00
2 101 ATH B JBs L Jr 1:10.48 1:05.59 2:16.07 53.23
3 103 frad 28 ANERTr 1:13.69 1:10.81 2:2450 117.24
4 107 (Ll —f= R 1:19.43 1:14.66 2:34.09 190.06
5 106 JEIL B&E N ERT e 1:29.37 1:18.63 2:48.00 295.69
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 1
104 RS R JBs L Jr GATE No. 8
DID NOT START [2nd RUN] 0
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105 IR D Th DAL ]r GATE No. 8

k& e &

2018-01-20 / JLEHFE A % —1i5 G8/ 2

DATA PROCESSING by SE I KO TIMING by SETKO



3 1R =

=T AF—BEFHERES

T
& R B T
INF3 - 4B PNEILR
D — T EANT—H
iz rH - a—24
B N—
58 (A sER — | HiE 640m
T 4= a s 420m
ks & d=bry =g P 2 220m
a— 2R E iy i
— ¥ Kk Bt
T4 =y a5 N B
1A4H 2 K H
a— Ry H— e EME a— Rty Z— Wi B
ISR - A - ML 48 ISR - A - HLE 48
ISR - B - H & ISR - B - H B
ISR - C - N g ISR - C - =
TR 29 (28) 2K — IR 10 : 00 M % 28 (27) 2 — R 12:10
KA i =8 N— R KA <Hb =8 T4 T A
2B —K/T 4=y a kiR 2°C / 2.2C AB—bF/T 4=y v a R 3C / 3.5C
F=980
NERE Ap=b =N EEHEE 1R 2A&AH & 7 1V—x
No No K4 B 4 1L L I 5| H%E fil A b
1 114 BTt JBs L Jr 1:03.26 1:00.57 2:03.83 0.00
2 115 DOEE BRI DAED]Ir 1:19.49 1:12.60 2:32.09 223.65
3 117 JERE A JBs L Jr 1:40.07 1:42.14 3:22.21 620.31
DID NOT START [1st RUN] 1
116 M f&E 1L Jr
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 1
113 KE Foms DALY ]r GATE No. 8
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
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No No K4 B 4 1L L I 5| H%E fil A b
1 108 ANy FgJr 54.92 53.33 1:48.25 0.00
2 111 ER/INZE0 H R Jr 5411 54.81 1:48.92 6.07
3 112 RS R 1L Jr 1:19.26 1:11.84 2:31.10 387.93
DID NOT START [1st RUN]
109 R E 1 7S il Jr
110 K&z HAE AN =1:1iN}S
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
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No No K4 B 4 1L L I 5| H%E fil A b
1 122 Py EH4 JBs L Jr 50.38 50.33 1:40.71 0.00
2 125 LN N B P 53.74 51.84 1:45.58 47.39
3 126 WS S FgJr 52.80 53.56 1:46.36 54.98
4 123 TR E &L T 54.19 53.97 1:48.16 72.50
5 128 BIE EX JBs L Jr 1:01.70 59.59 2:01.29 200.26
6 124 Tk EA DAED]Ir 1:04.19 59.95 2:04.14 228.00
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
121 (LilEF  FRIE iR Jr
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
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No No K4 B 4 1L L I 5| H# fil A b
1 120 B BER AHA L—A]r 52.36 52.40 1:44.76 0.00
2 119 N DAED]Ir 53.82 53.40 1:47.22 23.01
3 118 ER)H Y4 FgJr 55.72 53.58 1:49.30 42.47
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
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No No K4 B 4 1L L I 5| Héf fil A b
1 145 £ SRR B 41.53 41.48 1:23.01 0.00
2 138 VN Wi R 4464  43.33 1:27.97 58.56
3143 )l ERE AT A b—R]r 4557 4491 1:30.48 88.19
4 144 BT Bt JB5 1L R 46.37 4577 1:32.14 107.79
5 140 ¥ kA s L Ab s 46.82 4571 1:32.53 112.39
6 141 g R R 47.48 4595 1:3343 123.02
7 148 fad: AR ] {8 AR 51.09 49.00 1:40.09 201.64
8 147 =8 &A JBs L Jr 57.51 56.76 1:54.27 369.05
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 2
139 Al R JB5 1L HR 3
142 AL DAL o]
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DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 1
146 Ll ik iR Jr
DISQUALIFIED [2nd RUN] 0
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1 130 DR T DAL H]r 47.49 4547 1:32.96 0.00
2 129 I HE A s 1L B 4763  46.02 1:33.65 7.27
3 131 F ¥ RAEE = 49.13 47.33 1:36.46 36.90
4 134 A mEETRE s L Ab s 49.01 4899 1:38.00 53.13
5 137 IINRAEBEER FiL 51.85 49.38 1:41.23 87.18
6 132 N DAL o] 52.01 50.34 1:42.35 98.99
7 135 (L AT Y BRE 52.79 50.51 1:43.30 109.01
8 133 B LB AT A b—RA]r 52.48 51.06 1:43.54 111.54
9 136 /N HZER s 1L B 1:05.11 1:01.44 2:06.55 354.11
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
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DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]
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